



Commercial Invoice

Invoice Number 0001018330

Invoice Date 25-02-2026

ITN

Exporter CORDIS US CORP
86316364300
14201 NW 60th Avenue
Miami Lakes FL
United States of America 33014
86-3163643

Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD
BLDG NO.A3,UNIT NO.E
BABOSA INDUSTRIAL PARK
SARAVALI VILLAGE, BHIWANDI
THANE, MH 421302
India

End-User

Freight Forwarder
EXPEDITORS - MEM

Ship From DC Branch Plant
8631664300
4080 Executive Dr
Southaven, MS 38672
United States of America
863163643

Bill To CORDIS INDIA MEDICAL DEVICES PVT LTD
701.B WING, SUPREME BUSINESS PARK
HIRANANDANI GARDEN
HIRANANDANI GARGEN, POWAI
MUMBAI, MH 400076
India

Carrier
QATAR Airlines, ,HAWB: 4320201763,MAWB: 235-89482466

MOT : Air

Port of Export : O'HARE INTERNATIONAL

Payment Method:

Incoterms & Location : DPU : Chhatrapati S Maharaj,
Mumbai

Port of Unlading : CHHATRAPATI S MAHARAJ

Payment Terms: Net 45 Days

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
1.000	466F210AF	OptEase VC Filter OUS, 55cm Lot#: 18544287 Expiration Date: 12/31/2028	9021908100	EAR99	MX	442618 17-Feb-2026	296	EA	12219.98	3617114.08
2.000	504604X	AVANTI + 4F STD W/GW Lot#: 18535950 Expiration Date: 11/30/2028	9018390050	EAR99	MX	442618 17-Feb-2026	55	EA	389.07	21398.85
3.000	504605X	AVANTI + 5F STD W/GW Lot#: 18537680 Expiration Date: 11/30/2028	9018390050	EAR99	MX	442618 17-Feb-2026	1055	EA	386.43	407683.65
4.000	504606X	SI AVANTI+ 6F STD W/GW NO OBT Lot#: 18520897 Expiration Date: 09/30/2028	9018390050	EAR99	MX	442618 17-Feb-2026	1510	EA	381.36	575853.60
5.000	504607X	SI AVANTI+ 7F STD W/GW NO OBT Lot#: 18532445 Expiration Date: 10/31/2028	9018390050	EAR99	MX	442618 17-Feb-2026	585	EA	384.74	225072.90
6.000	504607X	SI AVANTI+ 7F STD W/GW NO OBT Lot#: 18532446 Expiration Date: 10/31/2028	9018390050	EAR99	MX	442618 17-Feb-2026	110	EA	384.74	42321.40

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

Total Invoice Value INR 7269818.88

Print Date 02-25-2026

User Name CORDIS_INTEGRATIO
N

Digital Signature

Page Number 1 of 7

Commercial Invoice (continuation)

Invoice Number 0001018330	Invoice Date 25-02-2026
----------------------------------	--------------------------------

Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India	End-User
--	---	-----------------

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
7.000	504608X	SI AVANTI+ 8F STD W/GW NO OBT Lot#: 18535310 Expiration Date: 11/30/2028	9018390050	EAR99	MX	442618 17-Feb-2026	100	EA	388.97	38897.00
8.000	504609X	SI AVANTI+ 9F STD W/GW NO OBT Lot#: 18531115 Expiration Date: 10/31/2028	9018390050	EAR99	MX	442618 17-Feb-2026	30	EA	389.07	11672.10
9.000	504610X	SI AVANTI+ 10F STD W/GW Lot#: 18531119 Expiration Date: 10/31/2028	9018390050	EAR99	MX	442618 17-Feb-2026	75	EA	389.07	29180.25
10.000	504611X	SI AVANTI + 11F STD W/GW Lot#: 18531122 Expiration Date: 10/31/2028	9018390050	EAR99	MX	442618 17-Feb-2026	35	EA	389.07	13617.45
11.000	504617Z	SI AVANTI+ TRANSRAD KIT 11CM Lot#: 18540908 Expiration Date: 12/31/2028	9018390050	EAR99	MX	442618 17-Feb-2026	30	EA	518.26	15547.80
12.000	C06100MV	PKG ASSY 6X100 SMART VAS120CM Lot#: 18499587 Expiration Date: 08/31/2027	9021390000	EAR99	MX	442618 17-Feb-2026	1	EA	18662.13	18662.13
13.000	PC0740XCE	Precise PRO Rx OUS Carotid Sys Lot#: 18538975 Expiration Date: 11/30/2027	9021390000	EAR99	MX	442618 17-Feb-2026	3	EA	21783.82	65351.46

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 7269818.88

Commercial Invoice (continuation)

Invoice Number 0001018330	Invoice Date 25-02-2026
----------------------------------	--------------------------------

Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India	End-User
---	--	-----------------

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
14.000	PG5970PPX	Long Gen / PRO 59 X 70 PER 135 Lot#: 82333998 Expiration Date: 03/31/2028	9021390000	EAR99	CR	442618 17-Feb-2026	3	EA	13592.83	40778.49
15.000	PG5980PPX	Long Gen / PRO 59 X 80 PER 135 Lot#: 82333999 Expiration Date: 03/31/2028	9021390000	EAR99	CR	442618 17-Feb-2026	3	EA	13539.56	40618.68
16.000	SC14200015	SLR PTCA 014 2.00mm X 15mm Lot#: 18529500 Expiration Date: 10/29/2027	9018390040	EAR99	US	442618 17-Feb-2026	1	EA	26370.00	26370.00
17.000	SC14200020	SLR PTCA 014 2.00mm X 20mm Lot#: 18526249 Expiration Date: 10/14/2027	9018390040	EAR99	US	442618 17-Feb-2026	3	EA	26370.00	79110.00
18.000	SC14200025	SLR PTCA 014 2.00mm X 25mm Lot#: 18527154 Expiration Date: 10/16/2027	9018390040	EAR99	US	442618 17-Feb-2026	6	EA	26370.00	158220.00
19.000	SC14200040	SLR PTCA 014 2.00mm X 40mm Lot#: 18539911 Expiration Date: 12/08/2027	9018390040	EAR99	US	442618 17-Feb-2026	3	EA	26370.00	79110.00
20.000	SC14225020	SLR PTCA 014 2.25mm X 20mm Lot#: 18527159 Expiration Date: 10/16/2027	9018390040	EAR99	US	442618 17-Feb-2026	2	EA	26370.00	52740.00

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 7269818.88

Commercial Invoice (continuation)

Invoice Number 0001018330	Invoice Date 25-02-2026
Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

End-User

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
21.000	SC14225025	SLR PTCA 014 2.25mm X 25mm Lot#: 18524930 Expiration Date: 10/09/2027	9018390040	EAR99	US	442618 17-Feb-2026	2	EA	26370.00	52740.00
22.000	SC14225030	SLR PTCA 014 2.25mm X 30mm Lot#: 18531311 Expiration Date: 10/29/2027	9018390040	EAR99	US	442618 17-Feb-2026	3	EA	26370.00	79110.00
23.000	SC14225040	SLR PTCA 014 2.25mm X 40mm Lot#: 18536293 Expiration Date: 11/14/2027	9018390040	EAR99	US	442618 17-Feb-2026	3	EA	26370.00	79110.00
24.000	SC14250015	SLR PTCA 014 2.50mm X 15mm Lot#: 18527165 Expiration Date: 10/16/2027	9018390040	EAR99	US	442618 17-Feb-2026	2	EA	26370.00	52740.00
25.000	SC14250020	SLR PTCA 014 2.50mm X 20mm Lot#: 18531315 Expiration Date: 11/03/2027	9018390040	EAR99	US	442618 17-Feb-2026	8	EA	26370.00	210960.00
26.000	SC14250025	SLR PTCA 014 2.50mm X 25mm Lot#: 18527168 Expiration Date: 10/20/2027	9018390040	EAR99	US	442618 17-Feb-2026	3	EA	26370.00	79110.00
27.000	SC14250030	SLR PTCA 014 2.50mm X 30mm Lot#: 18529496 Expiration Date: 10/29/2027	9018390040	EAR99	US	442618 17-Feb-2026	4	EA	26370.00	105480.00

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value	INR 7269818.88
---------------------	----------------

Commercial Invoice (continuation)

Invoice Number 0001018330	Invoice Date 25-02-2026
Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India

End-User

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
28.000	SC14250035	SLR PTCA 014 2.50mm X 35mm Lot#: 18536285 Expiration Date: 11/14/2027	9018390040	EAR99	US	442618 17-Feb-2026	2	EA	26370.00	52740.00
29.000	SC14250040	SLR PTCA 014 2.50mm X 40mm Lot#: 18541402 Expiration Date: 12/11/2027	9018390040	EAR99	US	442618 17-Feb-2026	3	EA	26370.00	79110.00
30.000	SC14275015	SLR PTCA 014 2.75mm X 15mm Lot#: 18522377 Expiration Date: 10/03/2027	9018390040	EAR99	US	442618 17-Feb-2026	3	EA	26370.00	79110.00
31.000	SC14275020	SLR PTCA 014 2.75mm X 20mm Lot#: 18529502 Expiration Date: 10/29/2027	9018390040	EAR99	US	442618 17-Feb-2026	4	EA	26370.00	105480.00
32.000	SC14275030	SLR PTCA 014 2.75mm X 30mm Lot#: 18536280 Expiration Date: 11/14/2027	9018390040	EAR99	US	442618 17-Feb-2026	3	EA	26370.00	79110.00
33.000	SC14275035	SLR PTCA 014 2.75mm X 35mm Lot#: 18531326 Expiration Date: 10/29/2027	9018390040	EAR99	US	442618 17-Feb-2026	1	EA	26370.00	26370.00
34.000	SC14275040	SLR PTCA 014 2.75mm X 40mm Lot#: 18539910 Expiration Date: 12/11/2027	9018390040	EAR99	US	442618 17-Feb-2026	4	EA	26370.00	105480.00

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 7269818.88

Commercial Invoice (continuation)

Invoice Number 0001018330	Invoice Date 25-02-2026
----------------------------------	--------------------------------

Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India	End-User
---	--	-----------------

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
35.000	SC14300015	SLR PTCA 014 3.00mm X 15mm Lot#: 18527180 Expiration Date: 10/20/2027	9018390040	EAR99	US	442618 17-Feb-2026	2	EA	26370.00	52740.00
36.000	SC14300025	SLR PTCA 014 3.00mm X 25mm Lot#: 18527184 Expiration Date: 10/20/2027	9018390040	EAR99	US	442618 17-Feb-2026	1	EA	26370.00	26370.00
37.000	SC14300030	SLR PTCA 014 3.00mm X 30mm Lot#: 18533649 Expiration Date: 11/06/2027	9018390040	EAR99	US	442618 17-Feb-2026	4	EA	26370.00	105480.00
38.000	SC14300040	SLR PTCA 014 3.00mm X 40mm Lot#: 18536288 Expiration Date: 11/14/2027	9018390040	EAR99	US	442618 17-Feb-2026	2	EA	26370.00	52740.00
39.000	SC14350020	SLR PTCA 014 3.50mm X 20mm Lot#: 18533654 Expiration Date: 11/06/2027	9018390040	EAR99	US	442618 17-Feb-2026	3	EA	26370.00	79110.00
40.000	SC14350030	SLR PTCA 014 3.50mm X 30mm Lot#: 18533658 Expiration Date: 11/06/2027	9018390040	EAR99	US	442618 17-Feb-2026	2	EA	26370.00	52740.00
41.000	SC14350035	SLR PTCA 014 3.50mm X 35mm Lot#: 18529512 Expiration Date: 10/29/2027	9018390040	EAR99	US	442618 17-Feb-2026	3	EA	26370.00	79110.00

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items without first obtaining approval from the U.S. government or as otherwise authorized by U.S.

Total Invoice Value INR 7269818.88

Commercial Invoice (continuation)

Invoice Number 0001018330	Invoice Date 25-02-2026
----------------------------------	--------------------------------

Exporter CORDIS US CORP 86316364300 14201 NW 60th Avenue Miami Lakes FL United States of America 33014 86-3163643	Ship To CORDIS INDIA MEDICAL DEVICES PVT LTD BLDG NO.A3,UNIT NO.E BABOSA INDUSTRIAL PARK SARAVALI VILLAGE, BHIWANDI THANE, MH 421302 India	End-User
--	---	-----------------

ITEM NO	PART NO	DESCRIPTION	HS	ECN	COO	PURCHASE ORDER NO PO DATE	QUANTITY	UOM	UNIT PRICE	TOTAL PRICE
42.000	SC14350040	SLR PTCA 014 3.50mm X 40mm Lot#: 18539658 Expiration Date: 12/01/2027	9018390040	EAR99	US	442618 17-Feb-2026	2	EA	26370.00	52740.00
43.000	SF05100MV	SMART FLEX 5x100 VAS, 120cm Lot#: 375766 Expiration Date: 09/23/2027	9021390000	EAR99	US	442618 17-Feb-2026	1	EA	22819.04	22819.04

Note These items are controlled by the U.S. Government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

Total Invoice Value INR 7269818.88
